
REVIEW: EQUATIONS OF LINEAR RELATIONS 

1. A line has a slope of 1
3

−  and a y-intercept of −2. 

(a) Sketch a graph of the line. 

 

(b) Write the equation of the line 
in slope-y-intercept form. 

(c) Now write the equation in 
standard form. 

2. Given the following equations of linear relations, state the slope and y-intercept. 

(a) 6y x= −  
 
m = ______ 
 
b = ______ 

(b) 10y x= − +  
 
m = ______ 
 
b = ______ 

(c) 7x = −  
 
m = ______ 
 
b = ______ 

(d) 7y = −  
 
m = ______ 
 
b = ______ 

(e) 5 2 10 0x y− − =  
 
m = ______ 
 
b = ______ 

3. Using the grid provided below, graph each of the relations in question 2. 
(Graph 2(e) using the intercepts method.) 

 



4.  

 

5.  
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